Total numbér of priﬁted pages—19
| 4 (Sem-3/CBCS) ITLP HC/RC
2022
COMMERCE
( Honours/Regular) |
Paper : COM-HC- 3026/COM—RC_—3026

(Income Tax Law and Practice)

Full Marks : 60

Time : Three hours

The figures in thé margin indicate
Jull marks for the questions. -

Answer either in English or in Assamese.

1. . Answer any seven of the following questions

~as directed: = 7=
TWWW@WWWWW
Tex forall ¢

(a) As per section 2(7), a person by whom
any tax or other sum of money is payable
under the Income Tax Act is known as
(Fill in the blank)
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Assessment Year”
starting from {st

means the period
April and ending on
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he next year. (Fil in the blank)
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Income- i
me-tax is an annual tax on
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i (State whether the
atement is true or false)
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9)
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Agricultural land in a rural area in India
in excluded from the definition of
“Capital Assets”. (State whether the

statement is true or false)

e’ TR&|E 2 SIECC) - |
(GfeTh) vF @ a%F G 39)

Section 10 of the Income Tax Act deals-
with income. (Fill in the blank)

I T 10 41 —— SIS SIS Tiee |
(T 312 39 29

[ncome from the sale of a portion of -
fixed assets is taxable under the head
(Fill in the blank)

i il o1 =ik Rkl SR R —

firoie SiETe I |
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The year in which income is earned is

known as Assessment year and the year
in which it is taxable is known as
Previous year. (State whether the

statement is true or false)
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Under the Income Tax Aét, 1961, what

is |
the status of Gauhati University as

a ‘Person’?

SR 12, 1961 SRR, <
3 o SO
R s=fw & =0 s

T i m
u;}({leha.bﬂlty of an Assessee depends
is/her Residentig] status.

: (State whether the
Statement is true or false)
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Agricultural inco
section 10 (1)
1961.

me is taxable under

of the Income Tax Act,

i (State whether the
g statement is true or false)
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2. Answer any four of the following questions : |

2x4=8

<o7s fral 2R ol A BifanT Be s

(@)

(b)

()

(@)

(e)
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Explain the term ‘short term capital
gain it ;
gl e I o Iy |

State the meaning of Assessment year
as per the Income Tax Act, 1961.

IR ACIECH 1961@%@%@%@%&%
feTal | ’

Explain the meaning of long-term
capital gain. :

it Teren o e i 4

State the meaning of Uniform Previous

. year’ as per the Income Tax Act, 1961.

TR S, 1961 TPl el GSIRESK
wref ferall|
State the meaning of income.
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(h)

‘Define “PeI'SOn;’
: as per |
1961 S per Income Tax Act,

-

BT W2, 1961 SEpiR fe sicel Tl

: meanin fe} .
R g of agricultural

Define
Ine ‘Assessee’ g

1967 ‘ s per Income Tax Act,

ARG :
fBvan | SR 1961 piR ety s <

Ans
WEr any three questions : 5x3=15
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(@) E i
xplain the steps involved in  the

determinati
on Of'Gro .
of a House PrOperty Ss Annual Vvdlue

TR ) A .
o7 g
St o TR 2MCFAEIE
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(b) From the following information of

Umacharan Pandey for the financial

‘year ended on 31st March, 2022,

compute his taxable income for the
Assessment Year 2022-23:

(i) Umacharan Pandey is a resident
and ordinarily resident in India.

(i) He is a partner in a limited liability
partnership. His share of profit
from the firm is Rs. 14,00,000.

(i) He is a member of a Hindu
Undivided Family. His share
of profit from the HUF is

Rs. 7,00,000.

(iv) During the previous year,

Umacharan Pandey received a

) scholarship of ‘Rs. 80,000 from
Taxmann Education Society.

(v) He is employed by & company on
part time basis. Annual salary
(after standard deduction) 18

Rs. 6,00,000.

(vi) Interest on Government securities
is Rs. 90,000. ;

deduction of

vii) He is eligible for a
80C.

Rs. 30,000 under section
Contd.
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31 Wb, 2022 ©IRcd SweR) O TN

AW TG SAlCe oS frm WA o,
2022-23 79 NN 9249 A (Sex T
o1 ey |

() TS siee qu qUE o AR
i = |

(i) (S G5! AT T wTwE) AfouRE

SR | AfSHIT o[ (Seq e S

14,00,000 B |

(i) C5¢ 9B wRee &y sfRmem (HUF) ;

MM | HUF-F o[ (993 areq oA
7,00,000 51| s

(iv) ATTE T SeTCRETS, TG HAlCe
. Taxmann Education Society-3 =<l

180,000 B0l gfe 2z TRz

() S G5 i SR FaEg AE

TS | AT T Pt (e A1 v
6,00,000 G |

(vi) SIS ﬁﬁm% IS 90,000 T |

(vii) 4<I 80OC-T THITO (He7 TR0 ST
A4 30,000 B |
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(e)
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Brieﬂy explain various heads of income.
i KA FORER 530 1 < |

Explain the meaning of “Capital Asset”
as per Section 2 (14) of the Income Tax
Act, 1961. ;

S ST2; 19613 411 2 (14)@@%‘_‘1&'
Feife”g e iy | A

Satish Kumar owns a residential house -
property in Mumbai. It is let out to
Anand Ltd. at a monthly rent of
Rs. 40,000. Municipal value of the
property is Rs. 2,20,000 and Fair rent
is Rs. 4,80,000. Anand Ltd. pays
municipal tax. On April 7, 2021, rent 1s
increased from Rs. 40,000 per month. to
Rs. 50,000 per month with retrospective
effect from April 1, 2020. Satish Kumar
gets Rs. 1,20,000 (being arrears of ren-t
for the financial year 2020-21) on April

20, 2021.
Find out the net income of Satish Kumar

for the Assessment year 2022-23 ont ;hi
assumption that his income from other .

sources is Rs. 8,00,000.

Contd.
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[ | O GRS (Me 59 ey g | afer
7, 2021 wIR¥S W@ ©rel 40,000 T
71 50,000 5hieaT g 1 27 i 3 it

= @fde® 1, 2020 wifeT [ | T a5

2?20-2 15 3cF1 wret f&pitst 2021 5w 20
QI SIf{T ASH FAE 1,20,000 Tt ol
IRz

ST TR A=t Wi 8,00 ,000 #ii% tarm 4fJ

- :12022-23 ﬁmcrwamﬂ—%w
SR Vi=e =511 | o

Ramesh Takalkar, who resides in
Mumbai, gets Rs. 6,00 ;000 per annum
as - basic salary. He ' receives
Rs. 1,20,000 Per annum as house rent
allowance. Rent paid by him is
Rs. 1,00,000 per annum. Find out the
amount of taxable house rent allowance
for the assessment year 2022-23

Contd.

(9)
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THIZ® PP 31 96 BRREIE 6,00,000
T qRre ol VRl fRpieet S| (98 I W
SIw A 25105t 1,20,000 GF #H1F | IF (O
1,00,000 Gt 9 Ol @M (T | 2022-
23 AT TR A (S SV < Sl
Qi e < |

Abhinandan Sukla is -a Government
employee.. He gets Rs. 6,00,000 per
annum as basic pay. In addition, he
receives Rs. 72,000 as entertainment
allowance. His actual expenditure on
entertainment for official purposes,

however, exceeds Rs. 75, 000. Find the
amount of entertainment allowance that
he can claim for deduction. :

»@Fﬁwwﬂawmﬁmaﬁew

6,00, OOOWWW‘?{WI‘N?{‘?{— o8
72,000 Tl SIGAE Ao ROt A
e A, (©8q AFS SCATLETT AR
75, oooﬁaﬁ@ﬁ@@’



4.

()

(b)

Write a note on the Deductions

available unde1j -section 24 in .

connection with income from house

- property. _
ARl 247 SIS 2TIG WRE AT wite
AR =17 51 (B Fore |
Answer any three questions : 10x3=30
‘ RicPrea fofbr e Tea B -
(a) Describe the procedure of computation

of short term and long term capital
gains as per the provisions of the Act.

TR S FLOIR 0 o e s
I 1|

The following are the particulars of
income of Mr. Narendra Singh),
employed in a private limited company
in Kolkata, for the year ended on 31st
March, 2022 :

() - Basic Salary : Rs. 90,000 per
month
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(ii) Dearness Allowance : RS.' 40,000
per month

(iti) Entertainment Allowance :
Rs. 10,000 per ,mqnth
(iv) Children Education Allowance

1di diture :
including hostel expen
glsc ;OO per month per child for 2

children
(v) Medical Allowance : Rs. 1,000 per
month _
A (vi) Transport Allowance : Rs. 2,000
per month

‘ .(vii) City Compensatory Allowang:e:.
" Rs. 6,000 per month .
(viii) Tiffin Allowance : Rs. 5',000 per
month.

Compute his income from salary for
the Assessment Year 2022-23.

TSI GBI ([AEIPISI TR AT TS
A v Fre= 31 W6 2022 OIS AT
TP e ReRel e fiie Wl i ¢
) T VR 3 Wife 90,000 T

(i) SR <A ¢ W 40,000 H

(iii) SCAEERs A ¢ Wz 10,000 ol |

Contd.
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(iv) eI P A S FARPR 497 3 Ao
s A TET 500 T, Tor MA@ |

(v) R T ¢ TR 1,000 Tl

(Vi) SRS I 2 TR 2,000 T |

(vii) o oo < 2 RS 6,000 T |
(viii) B 295 ¢ MR 5,000 5|

2022-23 49 1 @ 987 T’ ﬁ@ﬂ@
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From the following Profit and Loss Account
of Joy Prakash (Age: 45 years; resident)
for the year ended on 31st March, 2022
ascertain his Gross Total Income for th;,
Assessment Year 2022-23 :

31 Wb 2022 SiAT SREeR TGN AE S

AIHF (ITA 45 TR, AP wee Tl e

(ARG f2pieR ~|1 2022-23 " s A

($e3 o W efx 3 ¢

4 (Sem-3/CBCS) NP HC/RC/G 14

wfddq 87de O
Medical expenses of 84,000
Joy Prakash’s ailing :

T AR SR WS
e 4 :
Interest on Capital of
Joy Prakash

T SR LS
@9[qe O

Depreciation

SRR

Advertisement Expenditure 14,000
i 49R
Contribution to
Employees’ Recognised

46,000

96,000

Particulars Amount |Particulars Amount
(fRaad) - (Rs.) (5=) | (Re=et) (Rs.) (5)
" |General Expenses 26,800 |Gross Profits 8,31,000
i 492 I e
Bad Debts ) 44,000 |Commission 17,200
TR 3 gt
Outstanding Income Tax 4,000 |Brokerage 74,000
EME SRFY ;
Tnsurance (10 1,200 [Sundry Receipts 5,000
Salary to Stalf sp000 [ AR
ﬁﬁf;%ﬁ 7 Dividend received 22,000
Salary-to Joy Prakash ~ 1,02,000 %8 shares ~ *
| e Sl €770 Y
Interest on Overdraft 8,000 U2
z Interest on Debentures 76,000

Yel7igq 89O O

10,25,200

Provident Fund 26,000
G)falie!
©
Net Profit 5,21,200
apo e
Total 10,25,200 Total
g e I
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Other .informatio’n :

ey ©L :

()

(@)

(iii)

- (d) Sta‘te any five items
aval-l_able from Gross Tot

The amount of depreciation

allowable is Rs. 74,300 as per

Income Tax Rules.

74,300 59l |

General expenses includes

Rs. 6,800 being the cost of

permanent entrance he
' : gate of th

residence of Joy Prakash. 4

Joy I?rakash pays-Rs. 9,000 a
premium on own life insyrg :
policy of Rs. 1,00,000 ]

1,00,000 5915 e Sie Sy

siferfoq
S5® TR 9,000
fevicst sy e S

of deductions
al Income under

4 (Sem-3/CBCS) ITLP HC/RC/G * 16

(e)

(f)

(9)
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i 3 80C 41 0O 5 AT 217 FEACI
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Trard T | | |

Explain the mode of set off and carry forward

of losses.

(@I set off WE carry forward-=3 “af® 11 74 |

otes on the following:

Write short n
€ S 5+5=10

'Wwemﬂmmg

On-line filing of returns of income

Permanent Account Number

). Boiet T

(@

Ramesh is a citizen of India. From the
information given below, find out the net
income of Ramesh for the assessrpent year
2022-23 on the assumption that (i) .Rame.sh
is resident and ordinarily resident 1n Ipd1a,
(ii) he is resident but not or_dinari}y res@ent
in India, (iii) he is non-resident 11 India :

17



4 (Sem-3/CBCS) ITLP HC/RC/G 18

T o SRS MR | ST T SRS A
2022-23 4R 739 @ I eipe o Fefr 1
I AR @ () IO G AT o= AR
AR, (i) e qem A Ree iR A =,
(iii) I G& A - ‘

Interest on fixed bank deposit in Punjab
National Bank, Guwahati Rs. 6,00,000

SARMT AIGR TR @ Z TwE evige o
6,00,000 B

Income from agricultural operations in Nepal
(the entire amount is directly received in
Nepal and later on remitted to Iran for
investment purposes, however; no income

is generated during the year out of this
investment)

(Agricultural operations are controlled

from India by a team of

professionals)
Rs. 12,00,000

moﬁm?pﬁ@@aﬂw’awwm(wnmwm
SN Al IR M Rivcanss qics Sqieist AR =,
ww@%m@%@ﬁﬁmmwmw
TeoAfe (Rt i3) '

(RIS ST B TR o i wprsdeta
]I e w91 =) 12,00,000 B

Contd.

(n)

Pension received in London

Salary from UNO Rs.18,00,QOO

SiEed oRI @i 7@ 18,00,000 T

Income from house proper.ty s_ituated in
Chennai (rent received in Sti Lanka but on
the next day, it is remitted to India)

Rs. 9,10,000 |
e e gl 7 e (5 B
el 77, 5 P, U@ STl SR Al 2)
9,10,000 5=

(service was
rendered in India with a foreign country)
Rs. 80,000

TS IS (oD (ﬂﬁﬁmﬂ@?wm
ol SsECpTEl C2fEE) 80,000 Bl

Briefly explain any five forms of Return of

Income.

i Ao e et 7 v T

14000




